

# Kalman recursions.

## Proof, (Text)

$$\frac{I}{\sim t} = y_{\sim t} - P_{\sim t-1} y_{\sim t} \quad \text{orthogonal}$$

$$= y_{\sim t} - G_{\sim t} \hat{x}_{\sim t}$$

$$= G_{\sim t} (x_{\sim t} - \hat{x}_{\sim t}) + w_{\sim t}$$

$$P(\cdot | \dots, y_{\sim t})$$

$$= P(\cdot | \dots, y_{\sim t-1}) + P(\cdot | \frac{I}{\sim t})$$

(2)

5 Mar 03

$$\hat{X}_{\tilde{t}+1} = P_t(X_{\tilde{t}+1}) \quad \text{def}^m$$

$$= P_{t-1}(X_{\tilde{t}+1}) + P(X_{\tilde{t}+1} | \underline{I}_{\tilde{t}})$$

$$\underline{\Delta}_{\tilde{t}} = E \underline{I}_{\tilde{t}} \underline{I}_{\tilde{t}}' = \underline{G}_{\tilde{t}} \underline{\Omega}_{\tilde{t}} \underline{G}_{\tilde{t}}' + \underline{R}_{\tilde{t}}$$

$$\underline{\Theta}_{\tilde{t}} = E X_{\tilde{t}+1} \underline{I}_{\tilde{t}}' = \underline{F}_{\tilde{t}} \underline{\Omega}_{\tilde{t}} \underline{G}_{\tilde{t}}'$$

$$P(X_{\tilde{t}+1} | \underline{I}_{\tilde{t}}) = \underline{\Theta}_{\tilde{t}} \underline{\Delta}_{\tilde{t}}^{-1} \underline{I}_{\tilde{t}}$$

$$\begin{aligned} P_{t-1}(X_{\tilde{t}+1}) &= P_{t-1}(F X_{\tilde{t}} + V_{\tilde{t}}) \\ &= F \hat{X}_{\tilde{t}} \end{aligned}$$

giving (8.4.1)

(3)

5 Mar 03

For (8.4.2)

$$\begin{aligned}\Omega_{\sim t+1} &= E[(X_{\sim t+1} - \hat{X}_{\sim t+1})(X_{\sim t+1} - \hat{X}_{\sim t+1})'] \\ &= E(X_{\sim t+1} X_{\sim t+1}') - E(\hat{X}_{\sim t+1} \hat{X}_{\sim t+1}') \quad (*)\end{aligned}$$

$$\left\{ \begin{aligned} E(U) &= E_A(E(U|A)) \\ \text{Var}(U) &= E_A \text{Var}(U|A) + \text{Var}_A(E(U|A)) \end{aligned} \right\}$$

$$\begin{aligned} (*) &= F_{\sim t} E(X_t X_t') F_{\sim t}' + Q_{\sim t} \\ &\quad - E_{\sim t} E(\hat{X}_{\sim t} \hat{X}_{\sim t}') F_{\sim t}' - \textcircled{+}_{\sim t} \Delta_{\sim t}^{-1} \textcircled{+}_{\sim t}' \end{aligned}$$

(8.4.2)